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01-1 ZlOPHS 17| Foi| 4= O Zithet 8

1. 009% hint =z
2. 0-@, @-0, -0, -, ®-O, ®-0
3.0

01-2 DloPHS Bi27| HfaH ZHIsHoF & W=

>>> print("Hello Python")

Hello Python

AA 3E 01.2.2.
2. 01.2.2.py Hello! Hello! Hello!

£% 3RSt D28 SYY Yo

oo o

£

27
oL

a5l

01-3 0] HojlM XIF Lt2= moPM 8ol

>>> [print("Hello Python")
Hello Python

2. 9-0,@-0,0-X,@-x,®0
3.®
4.
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hello coding hello_coding HelloCoding
hello python hello_python HelloPython

we are the world we_are_the_world WeAreTheWorld
create output create_output CreateOutput
create request create_request CreateRequest
init server init_server InitServer

init matrix init_matrix InitMatrix

02-1 Xlzd1}t EXIE

"Zxf 2nigEE 2XY o7 \ SugHE ojnfEict,
=xt zjouigEE 2XiY 2k \ Z2uSHE ojnfgiLict,
" 2RI \n ZHIES o|n[gfLICt,
2XIE 2 EXIE o=y -
o LE ofed Xt el \t S ojn[EiLich,
2
W\ \S oln|gtLict,
3. AAFS 02.13.py 4, 22 7= 02.14.py
# da 24 =
A 3}
———————— Al
e

Traceback (most recent call last):
File "02_1_4.py", line 5, in <module>
print("QHd3SIHL"[5])

IndexError: string index out of range

5. 22 3c 0215.py

g5t
st
gsthl

Qrgst
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02-2 XX}

1. I

int 273,52,0, 1234, 25 + S HAARRE
float 0.0, 1.234,2.73e2, 25.0 = ) AARXE
* = ALK
/ Lisead 2AAERt
// e LiF7| SRt
% LIHX| GAAkXL
o HZ AR}

3. 2247 0223.py 4, 2A7= 022 4.py
# 71229 M print("34628 172 LH=US mol")
15+4=19 print("- £:", (3462 // 17)
15-4=11 print("- LHZ|:", (3462 % 16)
15 * 4 = 60
15 / 4 = 3.75
> oprint(2+2-2%x2 /2% 2)
print(2-2+2/2%2+2)
02-3 Haof ol
1. =
2 s 3. T
AH G = o int EXIEE int XIRYOZ HEl
-= KK A S CHRY float Z2XIEE float AI2EOZ HEt
*= PoNg=vRegn str RRIE EAIERE Het
/= 2 LiseM 5 o)
%= Kb LIX| 728 = ohed
s KAt AlE = Y
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4, 22 7= 023 4.py 5. 22 3= 02.35.py

str_input = input("£at €2 ") str_input = [input("glo| Htz|E 2> )
num_input = [float(str_input) num_input = [float/(str_input)

print()
print() print("#t2|&: ", num_input)
print(num_input, "inch") print("E2l: ", 2 * 3.14 * num_input)
print((num_input * 2.54), "cm") print("&0l: ", 3.14 *[num_input|** 2)

6. 22 7= 0236.py

input("22+Y Y

=
b = input("EAE ¢H

[V]
1}

print(a, b)

© = &

iﬂ

= C

print(a, b)

02-4 £xjet EXIHC| Chtst 7S

1. 2. 0-@, @0, -, ®-©

3. A4 7= 02.43.py

a = input("> 1% =af: ")

b = input("> 23 %2} ")

print()

print("{} + {3} = {}".format(a, b, int(a) + int(b)))

4., 2275 024 4.py

A A|&: hello
B Z[: HELLO
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03-1 2 Xy} if ZUE

1 2.3 3. ®OR @ AND ® OR
10==100 False
10!=100 True
10) 100 False
10{100 True
10 (=100 True
10 )=100 False

4. 227903 1 4.py

= (input("> 188 224 "))
b = (input("> 28R 22t "))
print()

ifla > bk
print("x4S Y23 {37 {}=ct o SUCH . format(a, b))
if [a < bk
print("F #M= L {37t {32Ct o St [format(b, a)))

03-2 if~else®} elif =2

=g olo
1. @12,@5,®§—| AT 2. if x> 10 and x < 20

print("Zo| YELCE")
3. 22 3c 03.23.py

str_input = input("Efo{t SHE US| FH> "

birth_year =|int(str_input) % 12

if birth_year == 0:

print(" 50| miLck")
elif birth_year == 1:

print("g wYLct.")

418



elif
print("7H meiLct.")
elif
print("=§z| mduch")
elif
print("3 mLct")
elif
print("A wLct.")
elif
print("® mL|ct.")
elif
print("E7| wLct.")
elif
print("4 mLct")
elif birth_year == 10:|

print("% mL|ct")

elif [birth_year == 11|

print(" mYL|ct.")

04—1 2|AERIHIRER

1
list_a.extend(list_a) [0,1,2,3,4,5,6,7,0,1,2,3,4,5,6,7]
list_a.append(10) [0.1.2,3.4,5,6,7.10]
list_a.insert(3, 0) [0.1,2,0.3.4,5,6.7]
list_a.remove(3) [0,1,2,4,5,6,7]
list_a.pop(3) [0,1,2,4,5,6,7]
list_a.clear() []

2. AAF= 0412.py
numbers = [273, 103, 5, 32, 65, 9, 72, 800, 99]

for number in numbers:

if number > 100:

print("- 100 O|4Q| £:", number)
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3. 9% AgAy} 44 5= 0413 1.py
numbers =

for number in numbers:

if number % 2 == 1:
print(number, "=
else:

print(number,

AA FJC

LREPN|

— 1 =

it

04_1.3_2.py

[273, 103, 5, 32, 65, 9, 72, 800, 99]

numbers = [273, 103, 5, 32, 65, 9, 72, 800, 99]

for number in numbers:

numbers = [1, 2, 3, 4, 5, 6, 7, 8, 9]

print(number, "=", len(str(number)), "AfZ|$L|CE.")
4. 2235 04.14.py 5. 4AAZc 04.15.py
list_of_list = [
[1, 2, 3], output = [[1, [1, [1]
[4) 5) 6) 7])
[8, 91, for number in numbers:

for line in list_of_list:

for item in line:

print(item)

04-2 EAL2|2t Bi=E

dict_al'hame’]

output[((number + 2) % 3].append(number)

print(output)

= {"name" "7="}

del dict_al'name']

{}

0
n
Tkl
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2.

3.

4.

AN = 042 2.py # S22 MoistLct.

pets = [
{"name" : 2", "age": 5},
{"name": "%3", "age": 3},
{"name": "Otz[", "age": 1},

{"name": "3to|", "age": 1}

print("# 22| S4| ot SEE")

for pet in pets:

print(pet["name"], str(pet["age"]) + "&")

AAFE 042 3.py

#RAE PQIR YT AT YSLICH
numbers = [1,2,6,8,4,3,2,1,9,5,4,9,7,2,1,3,5,4,8,9,7,2,3]

counter = {}

for number in numbers:

if number in counter:
counter[number] = counter[number] + 1

else:

n
=

counter[number]

# 2% 2

=

print(counter)

AA TIC .
AA 04_2_4.py # CIML2|Z MoiSHL|Ct.

character = {
"name": "7|At",
"level": 12,
"items": {
"sword": "g£Z9| 4",
"armor": "EZz0|E"
1
"skill™: ["#[7]", "AIA #I7]", "ok MIA HIZ]"]
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# for Ht=2S ARSILCH

for key in character:

if type(character[key]) is dict:
for small_key in character[key]:

print(small_key, ":", character[key][small_key])
elif type(character[key]) is list:

for item in character[key]:

print(key, ":", item)
else:
print(key, ":", character[key])
04-3 HtEE1} while HE&2
1. 2., AAFS 0432.py
range(5) [0,1,2,3 4]
XA FARER Y=oz AQISLIC
range(4, 6) [4, 5] f | ! .
key_list = ["name", "hp", "mp", "level"]
range(7, 0, —1) [7.6,5.4,3,2 1]
value_list = ["7|At", 200, 30, 5]
range(3, 8) (3,4,5,6,7]
character = {}
range(3, 9 + 1, 3) (3,6,9]

3. A4 3= 04.33.py

limit = 10000

i=1

for i in range(@, len(key_list)):

character[key_list[i]] = value_list[i]

N
M

#

s

S

il

print(character)

# sum2 IHO|M LHE0A AtE5t= AEAIO|EE sum_valueZt= Ha 0|§2 ALERILLCEH.

sum_value = @
while sum_value < limit:

sum_value += i

i+=1

print("{}5 o o {}2 g9on Juje| Zre {IULct.". format(i, limit, sum_value))

o
n
]
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max_value = 0
a=2=0
b=20

for i in|range(1, 100 // 2 + 1):
j =100 - i

# Z|SHgk S50

current = i * j
if max_value < current:

a=1
b=j

max_value = current
2: {} = {3 = {}".format(a, b, max_value))

3

print("2(ch7t El=

04-4 EXIE BIAE, EIML2|9} ZIZIE 72 §i4
1. ©,® D ArzE 04.42.py
#2|AE WEE AEdf2 ZEQLCE.
[i for i in range(1, 100 + 1)

output =
if "{:b}".format(i).count("0") == 1]
for i in [output]:
print("{} : {}".format(i, "{:b}".format(i)))

print("&A:", sum(output))

051 & 7|
@
def f(x):
return x ** 2 + 2 * x + 1]

1. ®©
def f(x):

print(f(10))
423

print(f(10))
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Tkl

def mul(xvalues):

output =1
for value in values:

output *= value

return output

# g5 SEFLICH

print(mul(5, 7, 9, 10))

05-2 &2 28

1. 24 3= 052 1.py
def flatten(data):

output = []
for item in data:

if type(item) == list:
output += flatten(item)
else:
output.append(item)

return output

example = [[1, 2, 3], [4, [5, 611, 7, [8, 911
print("&:", example)
print("tH&k:", flatten(example))

2. AAF= 0522.py

e go
mor ok

2t
>~
>
o
10
4>
1
=
I
IS

def BAI(H2 AE 5, 48l ALt 2):
key = str([&2 A £, 48l A 2]1)
#2824
if key in memo:

return memo[key]
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if g2 AR 4 o

return 0

# A5 02 2

if &2 M = == 0:
# FEStL| =5 M =M 1= 2|H
# M7 2|
count = @
for i in range(SIAtEtS, ASLQUEZ|THAIRISE + 1):
count += 2AH (A4 - i, 1)
# 023 22|
\memo[key] = count\
#3R
print (2(MH| Atgel £, o8 £ U= 2 F24))

numbers = [1, 2, 3, 4, 5, 6]

".join(map(str, numbers)))

numbers = list(range(1, 10 + 1))

print("::

2. AAF= 0532.py

o 223171

print("# £
print(list(filter([lambda x: x % 2 == 1, numbers)))

print()

ojet 2&5171")

print("# 3 0|4, 7
print(list(filter(lambda x: 3 <= x < 7, numbers)))

print()

=ollA 50 0[2t F&317]")

print("# A
print(list(filter(lambda x: x ** 2 < 50, numbers)))
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06—1 7= 27t o2

1. 7 o Z2Odo] AgH7| e Mo WAy

SA] g

ofle]: ZRI A3 Fol| ke & T2

2., AAFc= 0612 1.py 0612 2.py

numbers = [52, 273, 32, 103, 90, 10, 275]

print("# (1) Q4 =0
print("- {}= {} 2=l
print()

$Q

= & 271"

30

print("# (2) 24 R = 2t 271"
number = 10000

[try: & if number in numbers:|

l&LCt" . format (52, numbers.index(52)))

print("- {}= {3 Izloll U&LICE". format(52, numbers.index(52)))

lexcept: EE else:|

print("- Z|AE R0 gl= L")

print()

print("--- ¥4Hoz FIRHUSLCL ---")

3. @ 9¢]: ValueError, @ ¢]: ValueError, ® -+ 25F: SyntaxError,

@ o|2): IndexError

06-2 ol 5

1 © 2. A3 s HAlL.

071 2= S

1 © 2. A3 s HAlL,

o
n
]
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# BES 0] SYLICH

import os

# EOE 940 S0|= &=
def read_folder(path):

# ECio] 24 glof 5017|

loutput = os.listdir(path)

# ZCo| 24 FE3Y

for item in output:

if os.path.isdir(item):

# EGEHHE AL 10| S0(7]

read_folder(item)
else:

# OiUO|2tH =257

print("of:", item)

# A ECo| otY/EHE SHLICE

read_folder(".")

07228 2=

1. primenumbers S5 A3 29 Tt gUth (1R wE| 79 1851 Ao A3
Folok T}, 333% 1)

>>> import primenumbers

>>> primenumbers.all_PrimeNumbers_inRange (100, 1000)

[101, 103, 107, 109, 113, 127, 131, 137, 139, 149, 151, 157, 163, 167, 173, 179, 181, 191,
193, 197, 199, 211, 223, 227, 229, 233, 239, 241, 251, 257, 263, 269, 271, 277, 281, 283,
293, 307, 311, 313, 317, 331, 337, 347, 349, 353, 359, 367, 373, 379, 383, 389, 397, 401,
409, 419, 421, 431, 433, 439, 443, 449, 457, 461, 463, 467, 479, 487, 491, 499, 503, 509,
521, 523, 541, 547, 557, 563, 569, 571, 577, 587, 593, 599, 601, 607, 613, 617, 619, 631,
641, 643, 647, 653, 659, 661, 673, 677, 683, 691, 701, 709, 719, 727, 733, 739, 743, 751,
757, 761, 769, 773, 787, 797, 809, 811, 821, 823, 827, 829, 839, 853, 857, 859, 863, 877,
881, 883, 887, 907, 911, 919, 929, 937, 941, 947, 953, 967, 971, 977, 983, 991, 997]

>>> len(primenumbers.all_PrimeNumbers_inRange (100, 1000))
143
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2. A% s HAlL.

08-1 2af29| 7|2

1. 24 s 2ZAL. 2. A% Aelsf BAlL. 3. A4

08-2 SafjA9| FIIHI &

1. 24 3= 0821.py

# BUAS MoASHCE

i

class Student:

def __init__(self, name, korean, math, english, science):

self.name = name
self.korean = korean
self.math = math
self.english = english

self.science = science

de

=

get_sum(self):
return self.korean + self.math +\

self.english + self.science

def get_average(self):
return self.get_sum() / 4

def __eq _(self, value):

return self.get_average()
def __hne| (self, value):

return self.get_average()
def _lgt| _(self, value):

return self.get_average()
def _lgel _(self, value):

return self.get_average()
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def _[1t] _(self, value):

return self.get_average()
def __[le _(self, value):

return self.get_average()

print("test == 90:", test == 90)
print("test != 90:", test != 90)
print(“"test > 90:", test > 90)
print("test >= 90:", test >= 90)
print("test < 90:", test < 90)
print("test <= 90:", test <= 90)
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